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QUESTION 1

The application of the pattern results in a dynamic vertical scaling system that uses the
program to move LUNSs to cloud storage devices of higher capacity.

A. Cross-Storage Device Vertical Tiering, LUN migration
B. Intra-Storage Device Vertical Tiering, storage replication
C. Shared Resources, rapid provisioning

D. Noneoftheabove.

Correct Answer: A

QUESTION 2
The is used to keep track of workload distribution between cloud storage devices, and is established
with the storage capacity system by the application of the pattern.

A. Storage capacity monitor, Storage Workload Management
B. LUN migration program, Redundant Storage

C. Load balancer, Elastic Disk Provisioning

D. Storage replication program, Storage Maintenance Window

Correct Answer: A

QUESTION 3

The application of the pattern establishes a system that uses to avoid the risk of
establishing a single point of failure in a cloud architecture.

A. Zero Downtime, multiple physical server hosts

B. Synchronized Operating State, clustering

C. Elastic Disk Provisioning, multiple cloud storage devices
D. Load Balanced Virtual Server Instances, virtualization

Correct Answer: A
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QUESTION 4

The cloud architecture that results from the application of the pattern relies on the
mechanism to synchronize cloud storage devices.

A. Synchronized Operating State. resource cluster
B. Redundant Storage, resource replication

C. Zero Downtime, hypervisor

D. Service Load Balancing, failover system

Correct Answer: B

QUESTION 5

After applying the pattern, a system is established in which a is used to provide virtual
servers with direct access to LUNS.

A. Direct LUN Access, hypervisor

B. Redundant Storage, cloud storage device

C. Direct LUN Access, physical host bus adapter card
D. Redundant Storage, virtual switch

Correct Answer: C

QUESTION 6

The application of the Redundant Storage pattern results in a system comprised of and
cloud storage devices.

A. block-based, file-based

B. primary, secondary

C. physicalvirtual

D. vertically scaled, horizontally scaled

Correct Answer: B
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QUESTION 7
Applying the Redundant Storage pattern establishes a system made of and cloud
storage devices. The cloud storage device keeps a copy of the data for failover purposes.

A. primary, secondary, primary

B. load balanced, clustered, load balanced
C. primary, secondary, secondary

D. load balanced, clustered, clustered

Correct Answer: C

QUESTION 8
Applying the pattern establishes an elastic provisioning system that is capable of dynamically allocating
and reclaiming for virtual servers.

A. Elastic Network Capacity, physical network ports

B. Elastic Resource Capacity, CPUs and RAM memory
C. Elastic Disk Provisioning, bandwidth

D. Noneoftheabove.

Correct Answer: B

QUESTION 9

The system that results from the application of the Elastic Disk Provisioning pattern uses the thin-provisioning program
to create virtual server disks.

A. True
B. False

Correct Answer: A

QUESTION 10

In a cloud architecture resulting from the application of the Cloud Bursting compound pattern, the
mechanism is used to maintain synchronizing between a cloud consumer\\'s on-premise and cloud-based IT resources.
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A. hypervisor

B. resource pooling

C. automated scaling listener
D. resource replication

Correct Answer: D
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